workbench

Thank You!

You have successfully downloaded your document
from Workbenchmagazine.com. Below are some
tips for Trouble-Free Printing

1) Clear printer memory. If you are unable to print this document,
turn off your printer for at least 15 seconds and try again.

2) Print two or three pages at a time. If clearing the printer
memory didn't help, try printing only two or three pages at one
time, rather than sending the entire file

3) If a document is required to be at an accurate scale set the page
scaling option to "none" in your printer settings.

4) Get advanced printer help. Visit Adobe Support for instructions
in troubleshooting common printer problems.

http://www.adobe.com/support/techdocs/316508.html



http://www.adobe.com/support/techdocs/316508.html

Issue 275 Volume 59  Number 1

February 2003

MATERIALS LIST

4) Legs (fir

2) Top/Bottom Shelves (MDF)
1) Adjustable Shelf (MDF)

1) Hanger Back (fir

2) Hanger Sides (fir)

2) Drawer Sides (fir

2) Drawer Front/Back (fir)
1) Drawer Bottom (hardboard)
1) False Front (fir)

1) Upper Spacer Block (fir)
1) Lower Spacer Block (fir)
2) Mast Sides (fir)

1) Support Arm (fir)

1) Clamp Block (hardboard)
2) Guide Strips (hardboard)
1) Pressure Plate (fir)

2) Sleeve Sides (fir)

1) Sleeve Back (fir

1) Mounting Plate (fir

1) Dowel (hardwood)

VWV OUVOZErX=——IOMMUOW>

21/211 X 21/2" X 26"
3/4" X 16" X 201!

3/4|| X 16" X 181/2"
3/4|| X 33/411 X 14!!
3/4" X 33/4|| X 181/8"
1/2|| X 31/2" X 17n
1/2|| X 31/2|| x 11"
1/4u X 11u X 161 2n
3/4" x 31/16" x 137/g"
1/211 X 11/2|| X 3!!
1/2|| X 111/2|| X 11n
/211 x 1 /2" x 48"
11/5"x 3" x 10"

1/4:1 X 11/2n X 6"
1/4|| X 1/2|| X 6"

1/2" X 11/2|| X 6"

15" x 11/5"x 8%/,"
1/2" X 21/2" X 83/4"
3/4|| X 5|| X gn

35" x 215"

HARDWARE

*(34) #8 x 11/," Fh Woodscrews
*(10) #8 x 1" Fh Woodscrews

e (1) 1/4"x 20 Threaded Insert

e (1) 14" x3/4" Threaded Knob

o (4) 12" x 11/," Lag Screws

* (4) 3" Locking Casters

1) 5/16"x 21/4" Threaded Knob
1) %/16 " T-Nut

1) /16" x 3" Lag Screw

2) 16" Full-Extension Drawer Slides

CUTTING DIAGRAM

NOTE: Start cuts 15"
from edge of MDF to
remove any damage
that may have occured
during shipping.

34" MDF - 48" x 48" (Qty: 1)

Page 1 of 1

Copyright 2006, August Home Publishing Company.

All Rights Reserved.





